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Cycle 5090.1: Multiplet Diffs

Mean: 0.0025 +/- 0.0013

Chi2 / NDF: 5.2922 /7

Mean: 0.0012 +/- 0.0015

Chi2 / NDF: 1.9857/ 6
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Mean: 0.0241 +/- 0.0824

Chi2 / NDF: 3.7980 / 7

Mean: 0.0084 +/- 0.0102

Chi2 / NDF: 1.9857 / 6

Cycle 5090.1: Multiplet Sums

6.75 == =0n Stats=: —— ==Off Stats==:
Mean: 6.7035 +/- 0.0027 _¢_ _._ Mean: 6.5607 +/- 0.0031
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0.01

Cycle 5090.2: Multiplet Diffs

==0n Stats=;

Mean: 0.0010 +/- 0.0013

Chi2 / NDF: 6.8682 / 7
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==0ff Stats=;

Mean: 0.0031 +/- 0.0013

Chi2 / NDF: 6.5382/ 7
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Cycle 5090.2: Multiplet Asyms
-==0n Stats=: ==0ff Stats=:

Mean: 0.0297 +- 0.0912 Mean: 0.0656 +/- 0.0283
Chi2 / NDF: 5.2542/ 7 Chi2 / NDF: 6.5382/ 7
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Cycle 5090.2: Multiplet Sums

Mean: 6.6088 +/- 0.0028 Mean: 6.5616 +/- 0.0028
665 Chi2 / NDF: 149.6924 / 7 —+— Chi2 / NDF: 187.7489 / 7
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Cycle 5090.3: Multiplet Diffs

==0ff Stats=:
Mean: 0.0021 +/- 0.0014
0.0 Chi2 / NDF: 12.3014/ 7
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Cycle 5090.3: Multiplet Asyms
-==0n Stats=: I ==Off Stats=:
Mean: 0.0106 +/- 0.0368 _6_ _T_ Mean: 0.0349 +/- 0.0221
Chi2 / NDF: 6.7771/7 _._ _'_ _'_ Chi2 / NDF: 12.3014 / 7
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Cycle 5090.3: Multiplet Sums

—
Mean: 6.6425 +/- 0.0026 Mean: 6.5811 +/- 0.0028
6.75 Chi2 / NDF: 962.0908 / 7 N Chi2 / NDF: 189.2010/ 7
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Cycle 5090.4:

Multiplet Diffs

0.012

Mean: -0.0007 +/- 0.0025

0.01] Chi2/NDF: 2.6354/1
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Mean: -0.0003 +/- 0.0014
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Cycle 5090.4: Multiplet Asyms

Mean: -0.0011 +/- 0.0322

0.05 * *
Chi2/NDF: 9.5501/1 |

==0ff Stats

Mean: -0.0014 +/- 0.0063

Chi2 / NDF: 8.8416 /6
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Cycle 5090.4: Multiplet Sums

== =0n Stats=: _._ ==0ff Stats==:
6.9 Mean: 6.8744 +/- 0.0050 Mean: 6.6445 +/- 0.0026
685 Chi2 / NDF: 66.8946 / 1 7 Chi2 / NDF: 1635.3695 / 6
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Cycle 5090.5: Multiplet Diffs Cycle 5090.5: Multiplet Sums

= ==0n Stats=: ==0ff Stats=:
0.01] ——
Mean: 0.0055 +/- 0.0027 Mean: -0.0009 +/- 0.0013 Mean: 6.8230 +/- 0.0055 _+_ | Mean: 6.7220 +/- 0.0027
6.82
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Cycle 5090.5: Multiplet Asyms

-==0n Stats=: ==Off Stats=:

2| Mean: -0.1668 +/-0.9138 Mean: -0.0091 +/- 0.0133

Chi2 / NDF: 1.6406 / 1 Chi2 / NDF: 5.2995/ 7
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Cycle 5090.6: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
0.008 Mean: -0.0011 +/- 0.0021 Mean: -0.0002 +/- 0.0016
Chi2 / NDF: 4.0077 / 2 Chi2 / NDF: 3.5920/5
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Cycle 5090.6: Multiplet Asyms
-==0n Stats=: ==Off Stats=:
Mean: -0.0234 +/- 0.1228 Mean: 0.0021 +/- 0.0188
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Cycle 5090.6: Multiplet Sums

6.8 : 6.5629 +/- 0.0041 — | Mean: 6.6465 +/- 0.0034
Chi2 / NDF: 110.0792/ 2 Chi2 / NDF: 769.9657 / 5
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Cycle 5090.7: Multiplet Diffs

= ==0n Stats=: ==0ff Stats=:
0.01
Mean: 0.0069 +/- 0.0035 Mean: 0.0037 +/- 0.0015
Chi2 / NDF: 0.0000 /0 Chi2 / NDF: 1.7358 / 5
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Cycle 5090.7: Multiplet Asyms
==0n Stats=: ==0ff Stats=:
Mean: 0.1658 +/- 0.5943 Mean: 0.0292 +/- 0.0118
0.6 Chi2 / NDF: 0.0000 /0 Chi2 / NDF: 1.7358 / 5
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Cycle 5090.7: Multiplet Sums

Mean: 6.6417 +/- 0.0069

Chi2 / NDF: 0.0000 /0

Mean: 6.5144 +/- 0.0031

Chi2 / NDF: 454.4880 / 5
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Cycle 5090.8: Multiplet Diffs

Cycle 5090.8: Multiplet Sums

0.01 = ==0n Stafs=: ==0ff Stats=:
Mean: -0.0002 }/- 0.0013 Mean: 0.0024 +/- 0.0012 6.65( Mean: 6.5182 +/- 0.0027 Mean: 6.5797 +/- 0.0027
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-==0n Stats=: ==Off Stats=:

2| Mean: -0.0825 +/- 0.2066 Mean: -0.0383 +/- 0.0202

Chi2 / NDF: 5.7320 / 7 Chi2 / NDF: 10.9340 /8
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Cycle 5090.9: Multiplet Diffs

==0n Stats=;

Mean: 0.0021 +/- 0.0013

0.03
Chi2 / NDF: 3.7603 / 7

==0ff Stats=;

Mean: 0.0010 +/- 0.0012

Chi2 / NDF: 19.5217 /9
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==0n Stats=: ==0ff Stats=:

Mean: 0.0002 +/- 0.0755 Mean: 0.0226 +/- 0.0282
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Cycle 5090.9: Multiplet Sums

e
6.8 Mean: 6.7086 +/- 0.0031 ! Mean: 6.6653 +/- 0.0025
Chi2 / NDF: 699.4412 / 7 +_ Chi2 / NDF: 1449.0588 / 9
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Cycle 5090.10: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
0.0 Mean: 0.0012 +/- 0.0013 Mean: -0.0001 +/- 0.0017
Chi2 / NDF: 8.5426 / 7 Chi2 / NDF: 4.0502 / 4
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Cycle 5090.10: Multiplet Asyms
2 -==0n Stats=: ==0ff Stats=:

-4

Mean: 0.0303 +/- 0.1293

i2 / NDF: 5.1098 / 7
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Mean: 6.5390 +/- 0.0028

Chi2 / NDF: 339.6140/ 7

Mean: 6.4948 +/- 0.0034

Chi2 / NDF: 162.8881 /4
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==0n Stats=;

Mean: 0.0004 +/- 0.0013

Chi2 / NDF: 10.7328/ 7

Cycle 5090.11: Multiplet Diffs
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==0ff Stats=;

Mean: -0.0006 +/- 0.0014

Chi2 / NDF: 3.3877 /7
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-==0n Stats=:

Mean: -0.1319 +/- 0.0805

==0ff Stats=:

Mean: 0.0154 +/- 0.0363

Chi2 / NDF: 3.3877 /7

Mean: 6.5792 +/- 0.0028 + Mean: 6.6166 +/- 0.0028
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Cycle 5090.12: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
0.01] Mean: 0.0011 +/- 0.0013 Mean: -0.0021 +/- 0.0014
Chi2 / NDF: 8.2955/ 7 Chi2 / NDF: 5.3857 / 7
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0.5

-==0n Stats=:

Mean: 0.0200 +/- 0.0598

Chi2 / NDF: 4.3028 / 7
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==Off Stats=:

Mean: -0.0228 +/- 0.0151

Chi2 / NDF: 5.3857 / 7
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Cycle 5090.12: Multiplet Sums

Mean: 6.7337 +/- 0.0030 @

Chi2 | NF: 1406.3045 /7 ~—

Mean: 6.6439 +/- 0.0029

Chi2 / NDF: 2220.1655 / 7

——

]

10 12 14 16



